
 





 
   Knickstab Ungedämpfter Einmassenschwinger 

w‘‘ (x) = - M(x) = -  N * w(x) 
                 EJ            EJ 

mit α² =  N   w‘‘(x) + α² w(x) = 0 
              EJ 

w = c1 sin (αx) + c2 cos (αx) 
 

sin (αl) = 0  α = n  
                               l 
 

m * u‘‘(t) + k * u(t) = 0  

mit wo² =  k   u‘‘(t) + wo² u(t) = 0                            
                m 

n = c1 sin (wot) + c2 cos (wot) 

sin (wot) = 0  wo = 2  
                                   T 

N Ki = ² EJ 
            l² 

f  = 1    K 
      2    m   

Differentialgleichung 

Lösungsansatz 

nichttriviale Lösung 

Eigenwert 
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